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Alphanumeric Series

Directions (1-5): Study the following sequence A) X % <
carefully and answer the questions given below it. B)978
C)@>B
@ >B 6 N #? P /| DYN#6
D F 1 E)#?N

1. Find the next group in the following series. 3. How many numbers are there in the sequence
9B@,B#?,/TU, which is immediately followed by a letter?

A) 14D A) One

B)YTIS$ B) Two

C)4DF C) Four

D)USI D) Three

E) None of These E) More than four

2. Four of the following are alike in a particular 4. Which of the following is the 19th element to the
pattern and hence form a group. Find the one which right of the 7th element to the left of the 10th element
does not follow the pattern? from the left end when first 20 elements reversed?
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A)U

B)5

Ol

D)T

E) None of These

5. How many symbols are there, each of which are
immediately followed by a consonant and preceded
by a vowel?

A) One

B) Two

C) Three

D) Four

E) None

Directions (6-8): Study the following alphabet series
and answer the questions given below.

L#V3/NW+6JYKT@STS8C2|F9E>4H%
G*&

6. How many such symbols are there in the above
sequence, which are immediately followed by a
consonant and immediately preceded by a number?
A) Three

B) Two

C) Four

D) One

E) None of These

7. Which is the 14th element to the right of 13th
element from the left end?

A)H

B) 4

C)G

D) %

E)8

8. Find the next element in the following series.
Ll Vl Nl Jl Sl

A)E
B)H
CF
D)G
E) None of These

Direction (9-13): Study the following arrangement
and answer the given questions:

A/IXVAD@L#BH9& X2BK%R35RJO7M
A6

9. If all the symbols are dropped from the above
arrangement, which of the following will be the sixth
from the right end?

A) M

B) A

C)6

D)R

E)J

10. How many such vowels are there in above
arrangement, each of which is immediately preceded
by a consonant and immediately followed by a
number?

A) None

B) Three

C) Two

D) One

E) None of These

11. How many such numbers are there in above
arrangement, each of which is immediately preceded
and also immediately followed by consonant?

A) One

B) Three

C) Two

D) None

E) None of These
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12. Which of the following will be the fourth to the
left of the seventeenth from the left end of the above
arrangement?

A)9

B) &

C) X

D)2

E) None of These

13. Which of the following is the fourth to the right of
the eleventh to the right of first X in the given
arrangement?

A) %

B) K

Cc)B

D)R

E) None of These

Directions (14-15): Study the following information
carefully to answer the questions given below.

SNB5P%E7C4#G1$2DG*18L3V@9ZX
&Y

14. How many such consonants are there in the above
arrangement, each of which is immediately followed
by a number but not immediately preceded by a
vowel?

A) None

B) One

C) Two

D) Four

E) Three

15. Which of the following is the 5th to the left of the
20th from the left end in the above arrangement?
A)$

B) I

C)D

D)2

E)G

Directions (16-20): Study the following
letters/numbers/symbols sequence and answer the
following questions.

C4&3 ABGI9I# @2 QN S%511
D*0LVT7L!CS$KV®G6I

16. How many numbers are there in the series, which
are immediately preceded by a letter and immediately
followed by a consonant?

A) None

B) Two

C) Three

D) More than three

E) One

17. If all the numbers are dropped from the series,
which element will be 5th to the left of 15th from left
end?

A)Q

B) S

C)%

D)N

E) None of These

18. Which of the following is 8th to the right of 15th
from right end of row?

A) L

B)C

C)!

D)$

E) K

19. Four of the following are alike in a certain way, so
form a group. Find the odd one out — the one which
does not belong to that group.

A)C4&

B)@QS
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C)511
D)D * 0
E)V7L

20. The following series follow a certain pattern.
What will come in question mark (?) in the series:
43B, 9@Q, S5j, *L7,?

A) LCK

B) OLV

C) V7L

D) IV

E) None of These

Directions (21-25): Study the following
letters/numbers/symbols sequence and answer the
following questions.

81@LMC#7*EG6VB3S5$N8% PD1P4
YXZ

21. How many numbers are there in the series, which
immediately preceded by a symbols and immediately
followed by a letter?

A) One

B) Two

C) Three

D) More Than Three

E) None

22. If all the numbers are dropped from the series,
which element will be 5th to the left of 18th from left
end?

A)$

B) 8

C)%

D) N

E) None of These

23. Which of the following will be second to the right
of 17th from the left end?

A $
B) 5
C)N
D) 8
E) %

24. 1f every second element from the left end dropped
from the series, which element is 4th to left of 11th
from the right end in new arrangement?

A) 8

B)1

C)@

D)L

E) None of These

25. What is the total number of ‘The numbers
immediately follow the letters’ and ‘The symbols
immediately followed by a consonant’ together in the
above sequence?

A) Nine

B) Seven

C) Six

D) Five

E) Four

Directions (26-30): Study the following arrangement
and answer questions given:

EM@32*VD%!ANQ(BX~9C+TY#LZ6

26. If the first fifteen elements in the above passage
sequence are written in reverse order then which of
the following will be seventeenth from the right end?
A)V

B) 2

C)D

D) %

E) *
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27. If the above sequence is written in reverse order
then which of the following will be fifth to the right of
twelve element from the right end?

A)D

B) *

C)2

D)V

E)3

28. What should come in place of question mark in
the following on the basis of the above sequence?
6#T, CX(, ?

A) NA1

B) N%V

C) DVv*

D) Cannot Be Determined

E) None of These

29. How many such symbols are there in the above
sequence, each of which is immediately preceded by a
consonant and immediately followed by a number?
A) One

B) Two

C) Three

D) More Than Three

E) None of These

30. Which of the following is sixth to the left of
fourteenth element from the left end?

A)D

B) V

C)%

D) *

E) None of These

Directions (31-35): Study the following arrangement
and answer questions given:

82Z*#CDI9INO1&~MA)6RBY3J+<=FK

31. Which of the following is the 4™ element to the left
of the 14™ element from the right end?

A)l

B) &

C)M

D) A

E)O

32. How many such numbers are there in the above
arrangement each of which is immediately preceded
by a consonant and immediately followed by a
symbol?

A) One

B) Two

C) Three

D) None

E) More Than Three

33. Which of the following is the 6th letter to the left
of the 14th letter from the left end?

A)D

B) N

C)9

D) M

E)A

34. How many such numbers are there each of which
is immediately preceded by a consonant?

A) Two

B) Three

C) One

D) More Than Three

E) None of These

35. Four of the five are alike in a certain way based
on arrangement, which does not belong to the group?
A)Z#D
B)NO1
C)6RB
D)RBY
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E) None of These

Directions (36-40): Study the following arrangement
and answer questions given:

T%#CDZ3@ON!K6*AHVS8AY&Q70J1
2$CB)

36. Which of the following is the 7th element to the
right of the 12th letter from the right end?

A)$

B)C

Cc)B

D)J

E)2

37. How many such numbers are there in the above
arrangement each of which is immediately preceded
by a consonant and immediately followed by a
symbol?

A) One

B) Two

C) Four

D) Three

E) None of These

38. Which of the following is the 7" element to the left
of the 20" element from the left end?

A)5

B) 4

C)6

D)3

E) None of These

39. How many such symbols are there each of which
is immediately preceded by a vowel?

A) One

B) None

C) Two

D) Three

E) None of These

40. Four of the five are alike in a certain way based
on arrangement, which does not belong to the group?
A) CD3

B) T%#

C) ON!

D) AHV

E) Y&Q

Directions (41-45): Study the following arrangement
and answer questions given:

(CD~62%SZ8Y)*1KNI@VX$3 "R4AS
#

41. How many such vowels are there in the above
arrangement, each of which is immediately followed
by a letter and not preceded by a symbol?

A) None

B) Two

C) Three

D) More Than Three

E) One

42. What is the sum of all numbers which are
immediately followed by a letter?

A) 18

B) 19

C) 20

D) 21

E) 22

43. What will come in place of questions mark (?)
based on the above arrangement?
CD~, %SZ,)*1,?
A) KN9
B) R4A
C) 9@V
D) X$3
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E) None of These

44. Four of the following five are alike in a certain
way based on their positions in the above
arrangement and so form a group. Which is the one
that does not belong to that group?

A)%8*

B)C~2

C)19X

D)$RS

E) None of These

45. Which of the following is the 7th to the left of the
20th from the left end of the above arrangement?
A) *

B))

C)1

D) K

E)N

Directions (46-50): Study the following arrangement
and answer questions given:

LG2"ITAR3D7$9K#CE8ZI%MR4U*N
+W

46. How many such numbers are there in the above
arrangement, each of which is immediately preceded
by a symbol and immediately followed by a vowel?
A) One

B) Two

C) Three

D) More Than Three

E) None

47. How many such consonants are there in the above
arrangement, each of which is immediately preceded
by a number and immediately followed by a letter?
A) Two

B) Three

C) More Than Three

D) One

E) None of These

48. Which of the following is the 6th to the right of the
20th from the right end of the above arrangement?
A) #

B)E

C)C

D)8

E) X

49. Four of the following five are alike in a certain
way based on their positions in the above
arrangement and so form a group. Which is the one
that does not belong to that group?

A) L2

B) AR3

C) D$K

D) Csl

E) IM4

50. Which of the following is the 5th to the left of the
13th from the right end of the above arrangement?
A)$

B)9

CO)K

D)7

E) None of These
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Detailed Explanation with Answers:

Answers (1-5): The series given in this question is:

@ >B 6 N#?P /S
F 1

Solutions (1-5):

1) We will look at the first element and the second
element then we came to know that after first element
two elements are left and then third element is taken and
when we will look for the relation between second and
the third element third element is immediate next to the
second element.

When next series is taken it starts with the same pattern
but after leaving one element between the last element of
the first series and first element of the next series.

As per this pattern the series which will come in place of
the blank will be 14D.

Answer: A (14D)

2) In this question we will take one option at a time and
look for the pattern.

In first option, first element is between the second and
third element in the series given.

In second option, second element is immediate next to
the first element and third element is immediate next to
the second element.

In third option, first element is between the second and
third element in the series given.

In fourth and fifth option, first element is between the
second and third element in the series given.

As per the pattern only option is the second one which
does not follow this pattern, so answer will be 9 7 8.
Answer: B (97 8)

3) We will look for such numbers in the series which is being
followed by a letter.

Here, in the series we found four such pairs and the pairs are:
8B, 6N, 51 and 4D. So answer will be four such pairs
Answer: C (Four)

4) After reversing the first 20 elements in this question the
new series will look like this:

NSIP?#N6B>@B879V%X<LTUS51$©4DF
T

Tenth element from the left end in the new series will be >
and 7" element to the left of this > is / and the 19" element to
the right of / will be U.

Answer: A (U)

5) In this question we will look for such symbols which are
immediately followed by a consonant and preceded by a
vowel.

There are no such pair in the series given, so answer will be
NONE

Answer: E (None)

Answers (6-8): The series given in this question is:

L#V3/NW+6JYK1@ST8C2|F9E>4H %G
*&

6) B

7)D
8) C
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Solutions (6-8):

6) In this question we will have to look for such symbols
which are immediately followed by a consonant and
immediately preceded by a digit.

As per this pattern there are two such pairs and they are: 3/N
and 2| F. So, answer is Two

Answer: B (Two)

7) In this question we have to find 14th element to the right of
13th element from the left end.

The element which is 13" from the left end is 1 and the
element which is 14" to the right of this element is %
Answer: D (%)

8) In this question we have to first identify the pattern

The pattern is after first element that is L one element is left
and the next element is written that is V and after V two
elements are left and the third element is written that is N and
after N three elements are left and next element is written that
is J and after J four elements are left and fifth elements is
written that is S. Now as we can see each time one element
which is being left is added to the number of left elements, so
after S five elements will be left and the next element will be
F

Answer: C (F)

Answers (9-13): The series given in this question is:

A/IXVAD@QL#BH9& X2BK%R35RJO7M"
A6

9)E

10) D
11)C
12) B
13) A

Solutions (9-13):

9) In this question we will drop all the symbols from the
series and the new series will look like this:

AXVADLBHI9X2BKR35RJO7MAG

Now in the above series we have to find the sixth
element from the right end and that element is J
Answer: E (J)

10) In this question we have to find and look for such
vowels which is immediately preceded by a consonant
and immediately followed by a number

Now there is only one such pair and that pair is JO7
Answer: D (One)

11) In this question we have to find and look for such
numbers which is immediately preceded and also
immediately followed by consonant.

As per this pattern we find there are two such pairs and
they are: V4D and X2B. SO, answer is Two

Answer: C (Two)

12) In the series given in the question we have to find the
element which is fourth to the left of the seventeenth
from the left end.

Element which is seventeenth from the left end is K and
the element which fourth to the left of this element is &
Answer: B (&)

13) In this question we have to look for that element
which is fourth to the right of the eleventh to the right of
first X in the series given in the question.

Element which is eleventh to the right of first X is X and
the element fourth to the right of X will be %

Answer: A (%)

Answers (14-15): The series given in this question is:

SNBS5P%WE7C4#G1$2DG*18L3V@I9ZX &
Y

14) E
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15) D
Solutions (14-15):

14) In this question we have to find such consonants, which is
immediately followed by a number but not immediately
preceded by a vowel

As per this pattern there are only 3 pairs and such pairs are:
B5, C4 and L3. So, answer is Three

Answer: E (Three)

15) In this question we have to find the element which 5th to
the left of the 20th from the left end.

Element which is 20" from the left end is 8 and the element
which is 5" to the left of this element is 2. So, answer will be
2

Answer: D (2)

Answers (16-20): The series given in this question is:

C4&3 ABGI9#@2QNS%51J3D
*OLV7L!CS$KVEI

16) E
17) B
18) C
19) B
20) D

Solutions (16-20):

16) In this question we have to find such numbers which are
immediately preceded by a letter and immediately followed by
a consonant.

Now, as per this pattern there is only one such pair and that
pair is: V7L. So, answer will be One

Answer: E (One)

17) In this question we will drop all the numbers and the new
series will look like this:

C&ABG#@QNS%JD*OLVL!C$SKVI

Now in the new series the element which is 15" from the left
end will be O and the element which is 5" from the left of this
element will be S. So answer will be S

Answer: B (S)

18) In this question we have to look for element which is 8th

to the right of 15th from right end of row.

The element which is 15 from the right end of the row will be
J and the element which is to the right of this element will be
|

Answer: C (1)

19) In this question we will take option one by one and try to
find the pattern.

In the first option, the pattern is second element is the next
element to the first element and third element is immediate
next to the second element.

In the second option, the pattern is one element is left after the
element and the next element is written and after second
element one element is left and the next element is written

In the third, fourth and fifth option, the pattern is second
element is the next element to the first element and third
element is immediate next to the second element.

So, answer willbe @ Q S

Answer:B (@ Q S)

20) In this question we will try to find the pattern of the series.
The pattern is one element is left after the first element and the
next element is written and after second element one element
is left and the next element is written and between the first
element series and second element series one element is left
As per this pattern the pair which will come will be: 1$V
Answer: D (1$V)

Answers (21-25): The series given in this question is:

81l@LMC#7*EG6VB3S5$N8% OPD1P4Y
XZ

2) E
22) D
23) C
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24) A
25) A

Solutions (21-25):

21) In this question we have to find such numbers which
immediately preceded by a symbols and immediately
followed by a letter.

Now as per this pattern there are no such pairs which show the
above mentioned pattern.

Answer: E (None)

22) In this we will drop all the numbers and the new series
will look like this:

@QLMC#*EGVBS$N% OPDPYXZ

Now as per the above series we will find out the 18" element
from the left end and that element is P and the element which
is 5™ to the left of this element will be $. So, answer will be N
Answer: D (N)

23) Now in this question we have look for that element which
second to the right of 17th from the left end.

Element which is 17" from the right end is 5 and the element
which second from this element is N. So answer will be N
Answer: C (N)

24) In this question we will drop every second element from
the left end and the new series will look like this:

B8@M#*GV35N%P14X

As per the above series the element which is 11" from the
right end is * and the element which is 4™ to this element is 8
Answer: A (8)

25) In this question we will find the numbers immediately
following the letters and the symbols immediately followed by
a letter

Pairs of the numbers immediately following the letters: G6,
B3, S5, N8, D1 and P4

Pairs of the symbols immediately followed by a letter: @L,

$N and OP
Answer: A (Nine)

Answers (26-30): The series given in this question is:
EM@32*VD%!ANQ(BX~9C+TY#LZ6

26) E
27) D
28) B
29) B
30) A

Solutions (26-30):

26) In this question we will write the first 15 elements in the
reverse order and the new series will look like this:

B(QNA!%DV*23@MEX~9C+TY#LZ6

Now we have to find the element which 17" from the right
end and that element is *. So, answer is *
Answer: E (*)

27) In this question we have to write the above series in the
reverse order and the new series will look like this:

6ZL#YT+C9~XB(QNA!%DV*23@ME

Now in this question we have to find the element which 12"
from the right end and that element is N and the element
which is 5" to the right of this element is V. So answer is V
Answer: D (V)

28) In this question we have to look for the pattern which is
being followed in the series

The pattern after first element two elements are left and the
next element is written and then after that element one
element is left and the next element is written. Between the
two pairs there is a gap of one element.
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As per this pattern the pair which will come in place of
guestion mark will be: N%V
Answer: B (N%V)

29) In this question we will look for such symbols which is
immediately preceded by a consonant and immediately
followed by a number.

Now the pair which follows this pattern is; M@3 and X ~ 9.
So, answer is Two

Answer: B (Two)

30) In this question we have to find out element which is sixth
to the left of fourteenth element from the left end.

Element which is 14™ from the left end is ( and the element
which is 6™ to the left of this element is D

Answer: A (D)

Answers (31-35): The series given in this question is:
82Z*#CDI9INO1&~MA)6RBY3J+<=FK

31) E
32) D
33)C
34) B
35) A

Solutions (31-35):

31) In this question we have to find 4th letter to the left of the
14th letter from the right end.

The element which is 14™ from the right end is M and the
element which is 4™ to the left of this element is 0.

Answer: E (0)

32) In this question we have to find such numbers which is
immediately preceded by a consonant and immediately
followed by a symbol.

There is no such pair which follows such pattern. So, answer
is NONE

Answer: D (None)

33) In this question we have to find the element which is 6th
letter to the left of the 14th letter from the left end.

The element which is 14" from the left end is M and the
element which is 6" from the left of this element is 9
Answer: C (9)

34) In this question we have to look for such numbers which
is immediately preceded by a consonant.

There are three such pairs which follows this pattern and they
are: D9, NO and Y3.

Answer: B (Three)

35) In this question we have to find common pattern between
all the options and the option which does not follows that
pattern will be our answer.

In the first option after first element one element is left and
then the next element is written and after second element one
element is left and the next element is written

In the second option, second element is immediate next to the
first element and the third element is immediate next to the
second element.

In the third and fourth option, second element is immediate
next to the first element and the third element is immediate
next to the second element.

So, answer will first option

Answer: A (Z#D)

Answers (36-40): The series given in this question:

T%#CDZ3@ON!K6*AHVE8AY&Q70J128%
CB)

36) E
37) D
38) C
39) B
40) A

Solutions (36-40):

36) In this question we have to find the element which is 7"
element to the right of the 12" letter from the right end.
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Element which is 12" from the right end is Y and the element
which is 7" to the right of this element is 2
Answer: E (2)

37) In this question we have to look for such numbers which
is immediately preceded by a consonant and immediately
followed by a symbol

There are three such pairs which follows this pattern and they
are: Z3@, K6* and V8. So answer is Three

Answer: D (Three)

38) In this question we have to find out the element which is
7" to the left of 20" element from the left end.

Element which is 20" from the left end is Y and the element
which is 7" to the left of this element is 6

Answer: C (6)

39) In this question we have to find out such symbols which is
immediately preceded by a vowel.

There are no such pairs which follows the above mentioned
pattern. So answer is NONE

Answer: B (None)

40) In this question we have to find a common pattern among
the four options and the option which does not follows this
patter will be our answer.

In the first option second element is immediate next of the
first element and there is a gap of one element between the
second and the third element.

In the second option, there is no gap between all the three
elements means they are the immediate next of each other.

In the third, fourth and fifth option, there is no gap between all
the three elements means they are the immediate next of each
other.

So, answer will first option

Answer: A (CD3)

Answers (41-45): The series given in this question is:
(CD~62%SZ8Y)*1KNI@VX$3 RAASH

41) E
42) D

43)C
44) B
45) A

Solutions (41-45):

41) In this question we have to find out such vowels, which is
immediately followed by a letter and not preceded by a
symbol.

As per the above mentioned pattern there is only such pair
which follows this pattern and that pair is: AS

Answer: E (One)

42) In this question we have to look for such numbers which
is immediately preceded by a letter and we have to find the
sum of such numbers.

There are three such pairs which follows the above mentioned
pattern and they are: Z8, N9 and R4. And the sum of such
numbers means we have to add 8+9+4=21

Answer: D (21)

43) In this question we have to find the pattern which is being
followed by the series which is being asked in the question.
The pattern is: The elements are immediate next of each other
and there is a gap of two elements between two such pairs, so
the next pair which will come in place of question mark will
be: 9@V

Answer: C (9@V)

44) In this question we have to find a common pattern among
the four options and the option which does not follows this
patter will be our answer.

In the first option there is a gap of two elements between
elements of this pair

In the second option, there is a gap of one element between
elements of this pair

In the third and fourth option, there is a gap of two elements
between elements of those pairs

So, answer will be second option

Answer: B (C ~2)

45) In this question we have to look for that element which is
7th to the left of the 20th from the left end
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The element which is 20" from the left end is X and the
element which 7" to the left of this element is *
Answer: A (*)

Answers (46-50): The series given in this question is:

LG2M"I'AR3D7$9K#CE8ZI%MR4U*N+
W

46) E
47) D
48) C
49) B
50) A

Solutions (46-50):

46) In this question we have to find such numbers which is
immediately preceded by a symbol and immediately followed
by a vowel

There are no such pairs which follows the above mentioned
pattern. So, answer will be NONE

Answer: E (None)

47) In this question we have to find such consonants which is
immediately preceded by a number and immediately followed
by a letter

There is only one such pair which follows this above
mentioned pattern and that pair is: 8ZI
Answer: D (One)

48) In this question we have to find that element which is 6th
to the right of the 20th from the right end.

The element which is 20" from the right end is D and the
element which is 6" to the right of this element is C

Answer: C (C)

49) In this question we have to find a common pattern among
the four options and the option which does not follows this
patter will be our answer.

In the first option, there is a gap of one element between
elements of this pair

In the second option, there is no gap between the elements of
this pair

In the third, fourth and fifth option, there is a gap of one
element between elements of these pairs

So, answer will be second option

Answer: B (AR3)

50) In this question, we have to find that element which is 5th
to the left of the 13th from the right end

The element which is 13" from the right end is E and the
element which is 5" to the left of this element is $

Answer: A ($)
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